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=& 28,124,181 28,126,540 22,359
= 11,485,740
J| 1,274,754
= 3,749,744
s 11,613,943
sZZAHS L3 28,091,609 28,093,968 22,359
= 11,485,740
J| 1,274,754
< 3,749,744
s 11,581,371
sgHFI = 1,607,100 1,411,541 195,559
= 224,662
J| 59,234
< 378,374
s 944,830
STYRFU 42,100 66,600 A 24,500
201 et 3,000 23,500 220,500
01 At 2teltl 3,000 8,500 25,500
Osg&EXNS oM 221l 1,500, 000& 1,500
OsZEAM 2 sEMY EE=2 MEAM WA
1,500, 000& 1,500
202 Odl 10,800 10,800 0
01 = LH 4 Hi 10,800 10,800 0
O=3gSe =& 10,800, 000& 10,800
203 YR =2t 5,000 9,000 A 4,000
03 A F=XH S =AY 5,000 9,000 A 4,000
Os& g2=4 g3l 5,000,000 5,000
301 LA F 8,300 8,300 0
09 SALEHIX A S 8,300 8,300 0
O=gZ3=2s 23 W=E 250003 » 58 ~ 43 500
O&=sgeol eldy n=s 500,000& * 24 1,000
Ogts¢ - t0is S84 ety u=s
60,000& » 80 4,800
O5% % S SYoNS 24
2,000,000& 2,000
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B & 15,000 15,000 0
Osgoltx f3s X (M)
15,000, 000& 15,000
sgotHE = KA 100,000 150,000 A 50,000
301 LA S 100,000 150,000 250,000
02 Zet=st ks 100,000 150,000 250,000
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SIHESOIXA 11,520 11,520 0
301 getEd 3 11,520 11,520 0
12|24 = 11,520 11,520 0
OsIItE20/X& 3,840,000&  3H 11,520
SHZ ALK 35,000 35,000 0
307 glz2tol & 35,000 35,000 0
04 DI2HHALAISE E X 35,000 35,000 0
Ost=s¢t A3l &It 12,000, 000& 12,000
Oet=A JIEM=EUE 16,000, 000& 16,000
Osts¢t 55 ZSsSAE ZHEOE A
&It 5,000,000& 5,000
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2,000,000& 2,000
& =S IEt ALK & 15,000 17,000 A 2,000
307 gl2tol & 15,000 17,000 A 2,000
04 DIZHHALALSE E X 15,000 17,000 A 2,000
O8tll=s =E==Us ot 10,000, 000& 10,000
O8tll=s Relse= X0l #AH 2,000,000 2,000
Oetl= st A 3,000,000& 3,000
sgZNM =sg3E EENS 60,816 57,204 3,612
= 12,163
s 48,653
301 LEHZ 60,816 57,204 3,612
< 12,163
s 48,653
12243 60,816 57,204 3,612
=839 =93¥ FEHMZ 60,816,000 60,816
= 12,163
= 48,653
sgol otdEH I XA 148,542 102,300 46,242
= 59,417
i 89,125
301 etEd 32 148,542 102,300 46,242
< 59,417
i 89,125
12 JIEtEA 3 148,542 102,300 46,242
O=sgeol otdEd It K& 148,542,000& 148,542
< 59,417
s 89,125
sXolg822 & 27,939 23,913 4,026
J| 27,939
101 @124l 26,139 22,113 4,026
| 26,139
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04 DIt Z2RESES 26,139 22,113 4,026
O=X0lE A=A EX 212¢
26,139,000 26,139
J| 26,139
201 Let24E] 1,800 1,800 0
J| 1,800
01 At 22l 1,800 1,800 0
OsXog 2elXd 1,800,000 1,800
J| 1,800
sz 32X M3 11,700 9,000 2,700
< 2,340
[ia 9,360
301 LA F 11,700 0 11,700
< 2,340
[ia 9,360
12JIEBE43 11,700 0 11,700
Osglles 32X M3 11,700,000& 11,700
< 2,340
s 9,360
s XA 16,000 39,000 A23,000
307 2201 A 16,000 39,000 223,000
03 QIZtHHHE2HEHEX 16,000 16,000 0
Osgeltd 2948 XI& 16,000, 000& 16,000
e =gol dH=EHRH™H MY 640,000 601,950 38,050
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< 256,000
s 384,000
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=213 AKX 13,000 13,000 0
307 21201 A 13,000 13,000 0
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OZsURESN(EESI S)
10,000, 000& 10,000
O=glsl &5 =l &Fot 3,000,000& 3,000
JelEo(sM== MEMsS, s2) N2AY 7,000 7,000 0
307 21201 A 7,000 7,000 0
02 It S AIHE L 7,000 7,000 0
OJdEe &0 XNEAY 500,000& =« 14CH 7,000
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12JEEd= 38,400 31,600 6,800
OMBASNE AE=I LN
38,400,000& 38,400
< 11,520
e 26,880
MASSHNSHALS 5,692,400 5,627,642 64,758
= 5,692,400
301 LEd = 5,692,400 5,627,642 64,758
= 5,692,400
12JEEd=s 5,692,400 5,627,642 64,758
OMASSEEA=H 5,692,400, 000& 5,692,400
= 5,692,400
TAHEUXNGEHEN ALY 70,980 74,613 A 3,633
= 56,784
< 4,259
e 9,937
301 LEXS 70,980 74,613 A 3,633
= 56,784
< 4,259
e 9,937
12 JIEE4 3 70,980 74,613 A 3,633
OXd=clAHEMAY 70,980,000 70,980
= 56,784
< 4,259
s 9,937
DS ST 71,000 36,000 35,000
402 RI2HXt20l 71,000 36,000 35,000
01 212t 2 AL E = (REM ) 71,000 36,000 35,000
ONZE & Mo SSIIXNMXS
1,500,000& * 48CH * 50% 36,000
Ossd=zszg XA 200,000 = 3509 = 50% 35,000
Q2022 1,500 2,000 A 500
201 ¢er24l 1,500 2,000 A 500
01 At 22/l 1,500 2,000 A 500
OHSYR IHIE &t M4 oI
1,500,000 1,500
H A2E2SH(s2) 22X 360,900 363,500 A 2,600
307 21201 A 360,900 0 360,900
02 IS AHEL 360,900 0 360,900
OEVEEPE=L
13,000& = 2,600ha * 50% 16,900
Ol - &= HIX LH(H=AH)
100,000& = 2,800ha * 50% 140,000
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ELMEHMEZALS ,001,345 446,260 555,085
= 659,175
< 149,349
s 192,821
307 gl2tol & ,001,345 446,260 555,085
= 659,175
< 149,349
s 192,821
02 IZtA M AIHE L ,001,345 446,260 555,085
OELMHEH EBXAY 1,001,345,000& ,001,345
= 659,175
< 149,349
[ia 192,821
NSE SHHE A dabztg] 433,580 449,580 216,000
201 L2l 3,800 3,800 0
01 At 22l 3,800 3,800 0
OsZEg&Es)l =& =4H 8,0008  150H 1,200
OLEBZ MMM EZ(EEE S) 2,600,000 2,600
202 Oddl 2,680 2,680 0
01 = LH o4 4l 2,680 2,680 0
O&Ed s =X 2,680,000& 2,680
301 LetE2AF 900 900 0
09 HALAHIX &S 900 900 0
Os&gdesI| 2T A
3,000& = 150H » 2 900
307 21201 A 426,200 0 426,200
02 HAFHAANFEE 426,200 0 426,200
OH olatHlE2 XI& 53,6008 * 4,000ha * 50% 107,200
OxAel =48 4EXH
160,000& = 2,800ha * 50% 224,000
O 23=2% d=sM X2
100,000& = 1,900ha * 50% 95,000
Zitel 28 XX 210,000 105,000 105,000
< 63,000
s 147,000
402 RI2HXt20l ™ 210,000 105,000 105,000
= 63,000
= 147,000
02 It 2 AL EZ (O TH ) 210,000 105,000 105,000
Oxiel 24 4 -2 210,000, 000& 210,000
< 63,000
e 147,000
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402 BI2FX=01 M 103,270 101,530 1,740
< 30,980
s 72,290
02 QI EASEZ (01X ) 103,270 101,530 1,740
OZsIIHSEE SSAY 103,270,000& 103,270
< 30,980
s 72,290
s&E Mol 1,198,677 645,400 553,277
< 449,504
e 749,173
301 LEPEXF 1,198,677 645,400 553,277
< 449,504
e 749,173
12 JIEE 43 1,198,677 645,400 553,277
O=s&=2 MHol2& X3 A 1,198,677,000& 1,198,677
< 449,504
s 749,173
HHLSHAX 19,000 79,000 260,000
307 21201 A 19,000 74,000 A 55,000
02 It S AHE L 19,000 5,000 14,000
OMdgs d= & =M &It
50,0003 = 50 » 2¢& 5,000
O#dgds 3ld A3AE
50,0003 = 50 » 2¢& 5,000
OMdg=s d=23& sl &It
50,000& = 90Y « 2¢ 9,000
FllsgE2II=XNES 3,600 2,106 1,494
< 720
s 2,880
201 Let24d] 3,600 2,106 1,494
< 720
[ia 2,880
01 At 22l 3,600 2,106 1,494
ORIIsgHERI=XNES 3,600,000 3,600
S 720
s 2,880
HEHYs MIls sHAEERXN B2 16,560 16,560 0
< 3,312
[ia 13,248
301 EEH = 16,560 0 16,560
< 3,312
s 13,248
12|24 = 16,560 0 16,560
O#NAs iz sPHEEX ES
16,560, 000& 16,560
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=) 3,312
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eSS MA 1,844,104 1,838,963 5,141
= 1,844,104

301 LEHZ 1,844,104 1,838,963 5,141
= 1,844,104

12JEEd= 1,844,104 1,838,963 5,141
OgsSA=MALY 1,844,104,000& 1,844,104
= 1,844,104

HH0E0 YT S4 28,800 14,400 14,400
=) 8,640
s 20,160

402 212t A= 01 & 28,800 14,400 14,400
< 8,640
e 20,160

02 LA TEALEZ(0IETHR) 28,800 14,400 14,400
OFLO0IS40l MM |4  28,800,0002 28,800
= 8,640
s 20,160

H eI HU X 365,577 385,307 A 19,730
< 109,673
[ia 255,904

301 LA F 365,577 385,307 A 19,730
= 109,673
[ia 255,904

12IIEtE4 = 365,577 385,307 A 19,730
Ol &3Xd XA 365,577,000& 365,577
< 109,673
s 255,904

HHA2Y0ZHA R 31,840 40,320 18,480
< 9,550
s 22,290

402 2I2tXt=01& 31,840 40,320 A 8,480
< 9,550
s 22,290

02 U2 TEALEZ(0IETHE) 31,840 40,320 A 8,480
OZSZR2HOISIH XA 31,840,000& 31,840
< 9,550
[ia 22,290

7= E =HE /s sl 4,000 4,000 0
= 1,200
i 2,800

301 LA S 4,000 4,000 0
) 1,200
i 2,800
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12JEEd= 4,000 4,000 0
RIls 25 SHUHE A wEX
4,000,000& 4,000
< 1,200
e 2,800
H MilsPel 2 otE X AHY 385,000 405,000 A20,000
< 385,000
301 LEd = 385,000 405,000 220,000
< 385,000
12JEEd=s 385,000 405,000 A 20,000
Ol THHH =g ol BEtE XI& 385,000,000 385,000
< 385,000
A=A EHM(2HI) 33,000 33,000 0
301 LEBEAZ 33,000 33,000 0
12 JIE2 4= 33,000 33,000 0
Ored=sLAEM(28l)  330,000& * 100ha 33,000
ol ChHl EsXtM X 50,000 50,000 0
302 OI=2L Mol 24 = 30,000 30,000 0
02 IAQITHOH A =S FESENS 30,000 30,000 0
ORIRIQITHE L =2TES X2
100,000& * 300ha 30,000
405 TtabF S| 20,000 20,000 0
01 AL ESFH SH 20,000 20,000 0
OMolCHEl =AM XI& 100,000& * 200ha 20,000
FI s M X3 AHS 37,622 39,000 A 1,378
= 15,049
< 6,772
s 15,801
402 RI2EX 20| ™ 37,622 39,000 21,378
= 15,049
< 6,772
[ia 15,801
02 It 2 AL EZ(OI X TH ) 37,622 39,000 21,378
ORIIsLATHAA 37,622,000& 37,622
= 15,049
< 6,772
e 15,801
SHUUHAE M AHEH 2F X2 100,000 100,000 0
< 30,000
s 70,000
307 glz2+ol & 100,000 100,000 0
< 30,000
s 70,000
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O=gJIH Sst&EX XA 27,000,000& 27,000
= 10,800
< 4,860
s 11,340
FIlsbtE AR ALY 110,600 144,960 A 34,360
= 33,180
[ 77,420
402 QIZ2FXt20l ™ 110,600 144,960 A 34,360
< 33,180
e 77,420
02 RIZEXt 2 AL EZ (01X ) 110,600 144,960 A 34,360
ORIIsttE LRI 110,600, 000& 110,600
< 33,180
[ia 77,420
7I)s - 252 Miisot 3284 71,000 83,000 A 12,000
< 21,300
s 49,700
301 LA F 71,000 83,000 A 12,000
< 21,300
i 49,700
12 J|EtE &= 71,000 83,000 A 12,000
Hlls - 2= MilsIt SF 284
71,000,000& 71,000
< 21,300
s 49,700
DNEZHN MATH JEZXMH 22 72,226 69,580 2,646
= 21,668
s 50,558
402 RI2HXt20l 72,226 69,580 2,646
= 21,668
[ia 50,558
02 It 2 AL EZ (OIS ) 72,226 69,580 2,646
OLNSEY MATHHY S BN 32
72,226,000 72,226
< 21,668
[ia 50,558
SEZSE RPC XNIE ALY 40,000 40,000 0
301 LEEAF 10,000 10,000 0
12JE 243 10,000 10,000 0
OS4E=ZS¢E RPC STt EHOH =HHHHl XI&
5,000& * 4,0002 = 50% 10,000
402 RIZ2FXt20l 30,000 30,000 0
01 QU2 X2 AP 2 2 (REXIXH &) 30,000 30,000 0
OSd=2S& RPC Z&ETH XIS ALY
6002 = 100,00000 * 50% 30,000
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HIJIESAE 2SHE N&A 4,000 4,000 0
< 1,200
s 2,800
301 LEd = 4,000 4,000 0
< 1,200
s 2,800
12 JIEBHE4 = 4,000 4,000 0
RINSAS USHE K& 4,000,000& 4,000
< 1,200
= 2,800
FIIIEAE ZZM A& 26,840 24,360 2,480
< 8,050
e 18,790
402 RIZEX20l A 26,840 24,360 2,480
< 8,050
i 18,790
02 U2 TEALEZ(0IETHR) 26,840 24,360 2,480
ORIIIEAE 2 X& 26,840,000 26,840
< 8,050
s 18,790
= Et&Z2 THHH X & AL 533,800 1,159,400 A 625,600
= 427,040
< 32,028
[ia 74,732
301 LeHEBAF 533,800 1,159,400 A 625,600
= 427,040
< 32,028
[ia 74,732
12 J|EtE4 = 533,800 1,159,400 A 625,600
O= Et&Z=2 U X & AL 533,800,000 533,800
= 427,040
< 32,028
e 74,732
230 HEB2EXN XNEJIZHH 22X 43,620 11,324 32,296
101 @14 dl 22,884 8,898 13,986
04 JIZHHZ2XEE S 22,884 8,898 13,986
OLUICUANEZ2ZX BEX o2 22,884
=0 68,7203 * 2¥ » 150 20,616
-ALRIE™ JI2RE S 20,616,000& = 11% 2,268
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